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QUESTION 1

Consider the following test steps; 

Which of the following function signatures is the best for keyword implementing test step number 1 ? 

A. def login (): 

B. def login_with_admin_credentials () : 

C. def login(username, password) : 

D. def create_user (username, user_email, password) 

Correct Answer: C 

 

QUESTION 2

Given a link with an ID = "Hnk1". which line(s) of code will get the text within the webelement? 

A. Option A 

B. Option B 

C. Option C 
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D. Option D 

Correct Answer: C 

 

QUESTION 3

Which of the following BEST explains how Selenium fits within the test automation architecture? 

A. Selenium supports designing test cases 

B. Selenium interfaces with the SUT 

C. Selenium supports implementing test cases 

D. Selenium is a tool, not part of the test automation architecture 

Correct Answer: C 

 

QUESTION 4

Given amodal dialog with an ID = "modal1" and a button in the modal with a class name = "modal1butlon1", which
line(s) of code will click on the modal button? 

A. Option A 

B. Option B 

C. Option C 
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D. Option D 

Correct Answer: B 

 

QUESTION 5

Consider the following HTML document 

Which of the following CSS selectors will find the Cancel button? 

A. .big.button[name="cancel"] 

B. ."big button" [name="cancel\\'\\'] 

C. . .big_button[name="cancel"] 

D. .big.button[@name="cancel"] 

Correct Answer: C 
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